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GE1-P2-ECONOMICS
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

The question paper contains paper GE-2A, GE-2B and GE-2C.
The candidates are required to answer any one from three courses.
Candidates should mention it clearly on the Answer Book.

GE-2A
MACROECONOMICS

GROUP-A / - / a9g-a

1. Answer any four questions: 3x4=12
foafere @-@F 51afb eltas Tex wies
PT IRACT THEHD] IR (S8 IT:

(a) Explain the relationship between value of money and general price level.
SR T @ HIFe VISR ) T2 9
HGTebT I 3T AHY o TR HTTeh! Tre~Y JASTeI |
(b) Distinguish between GDP and GNP.
GDP &3 GNP-7 3 #/1<F) 3411
GDP 31 GNP-HTsT Urefar T8 |
(c) What do you mean by Balance of payments?
Balance of payment J&1C & (131 ¢
ITRTT BT FeTT HTel &b s ?
(d) What is effective demand?
FIEFIA BIfEw (effective demand) FIGF 6T 9
TEDIRT HRT Aeiehl & 8T ?
(e) What do you mean by an open economy?
(21T SR (open economy) FICF JCE 9
ool JTfegeeel] HTel o f3o ?
(f) What is Stagflation?
Stagflation 5K
TR = ST 2 2
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GROUP-B / fett-4 / Fqg-a

Answer any four questions 6x4 =24
-CFI 5115 &rted Ted s
PT IRACT THEHD! IR I8 RL
2. Explain the drawbacks of measuring national income in developing countries. 6

G5 TRIET (M0 SRS O AR SyfRees et Siceivet )
[ TRATRT <& T AT AT ARG AR B |

3. ‘Supply creates its own demand’ — Explain. 6

“eate free vifenie 9 FE — i FA)
JATYfcTeT ST HIT JofT 6" — AT BN |

4. What is investment multiplier? Discuss the role of investment multiplier 2+4
in LDCs.
fRfcae @l I 0T 9 9P Tazerliel (ree! RINCo SeCwa Gisee! SCenbal 4|
fFIreT TUTep AeTebT < BT 2 JAeUTIB AT BT 9T Urehep! Hf¥repT =it eI |

5. Explain the relationship between APC and MPC. 6

APC '8 MPC-&9 () F~2I S5l 41|
APC 31 MPC HTST! T cSJed |

6. Explain the liquidity preference theory of Keynes. 6
(P& @7 “Liquidity preference” ©gi SHICabH! 54|
HAPT TR (ORI RIqETT ST e |

7. Distinguish between Demand pull and Cost-push inflation. 6

bifRnl-sfve Jurife ¢ a-wfee JarFion A #Hie 5|
AT U 31 ST IRE JorehifereTsT aTefer e |

GROUP-C / ett-ot / T

Answer any fwo questions 12x2 =24
- 717 &rad Ted e
P1 GEACT THEHDT IR ST,

8. Critically explain the Cambridge version of quantity theory of money. 12
w2l /e Ore — @RS SIS FACEEAE Ao 341
1T TRHTUT RIS ETIhT FITISST HEPRUT ST TETcHD HUHT SRS T8I |

0. Explain the Classical theory of interest rate determination. 12
I fefiacera st wgl i 34
TS R (TR QT RIGET=T SIReaT eI |
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10. Explain the factors that determine consumption function. 12
(elsl-worRs fdReial fRaaefe siEma w1
HIT et TR T+ hRepes et e |

11. Explain inflationary gap with the help of a suitable diagram. 12
e baore ureifed T 10 T4
SUgh YTARIfET JERhifren! SfcRTel ST Te N |

GE-2B
INDIAN ECONOMY-II
GROUP-A / fetl-3 / vg-®

1. Answer any four questions from the following: 3x4=12
@-CFI BIAf6 @iee Tee wies
PT IRICT THEHD] IR a8 IT;

(a) Define the term planning.

“ARFHA -G TS WG |
ArSTTET TRHTST e8|
(b) What do you mean by Balance of Payment (BOP)?
‘BOP’ <&1Cs 5 (A1 9
R T et & D 7
(c) What is the difference between money market and capital market?
S AGIR 8 e AR &) #A1< 741
5T IOTR A YSiT SR H1eT b fH=Te1 © 2
(d) Define globalization.
P FE0e & @RI 9
JHSCIPRUT GRS THEI |
(e) What are small scale industries?
=y 5 0o 1S @IR1 9
T ST P A 2
(f) What do you understand by monetary policy?
Ridaa w9 Srices TR wie |
Hifse AT =T1eT & gfers 2
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GROUP-B / fett-4 / Fqg-a

Answer any four questions from the following 6x4 =24
@-(FA 510 eT3F Ted wis
PT IRACT THEHD! IR I8 RL
What are the various features of Indian money market? 6

SIS O AN (B %ot D 41
AR ST ITReDT A= fQrciien & &b & 2

State the role of cottage and small scale industries in Indian economic 6
development.

OIS TGS T Y '8 Fba FICe ¥Eg D= 41
AR 3P BT PR A T IJRTDT HHBT TASTE R |

Discuss the broad objectives of 12" Five Year Plan in India. 6
CIACOR B AARFHAIPICETR 2l Sl el w3
IR 9 31 TSN TISIDT TID ILITERAR BeTthel Tl |

Discuss the features of Indian Capital Market. 6
SIS YT SIS ([I2y o1 S 541

IR Yol FoTRep! faevdTess aaf Tei |

Explain quantitative measures of credit control by India’s Central Bank. 6

el- feraracel wiRces! fRee icEs sifionte simioefe SicEm=i 1
AR P SATBGRT 0T (DT AHATHD SURIEH AR T8I |

Examine the impact of globalization on Indian economy. 6

SO Ao THie RARIC 2rel< Sicaibal 4|
IR 3T FGCATAT JHUSEH [PRUIDT HHTT STel T{o1 |

GROUP-C / ett-o1 / T

Answer any fwo questions from the following 12x2 =24
A-CF 715 eraa Ted wie
P GEACT THEHDT IR e

Discuss the change occured in the volume, composition and direction of Indian 12
Foreign trade since 1991.

S5 FNER 77 (AT SRS ([QHHF AT ST, 519+ @ &1t (@ ARew 20
O] G[CEH P
T 9%% 9 Ufts WRART e SMIRepT HET, WA I AT ! uRacaTr AT
BeTthel T8I |
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9. (a)

(b)

10.

11.

(b)

(©)

(d)
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What do you mean by social security? 2+10

e e qeTe & @Rl 2

TR GRET HTel &P 3D 2

What social security measures have been adopted for industrial workers in India?
wiacs g wfiem oy & [ ifess faisrenme e 925 2@ 2

IREHT SN sHieeaa! (T P AT FGRefepT SURIEH Teul TRUD! B ?

Discuss briefly the achievements and failures of Five Year Plan in India. 12
CRICSR #/IIRF AfFFeE e 8 L ATHC SN 74|
IR USIIE1 ISP ST 3T STATheTdERae! e <l T8y |

Discuss various problems faced by India’s small scale industries. 12
wikeed T Mics Ko e Siene w1
HRTHT oY JETE0eT ATHAT TRREDT A~ FHRATEHAR BeTthel T8I |

GE-2C
PUBLIC FINANCE
GROUP-A / fetl-3 / vg-®

Answer any four questions from the following: 3x4 =12
R BIAf5 &lred Tes nies
PT IRICT THEHD] IR a8 IT;

Distinguish between progressive and regressive taxation.
Progressive @ Regressive tax-43 S 2Nefamefe 5 & 9
srTferefier 1 ST e ATet RfTaT SETrSTeI |

Give three examples of direct tax.

2o 34 fon Tnizds nie |

T R IICT IJSTERUE faJe |
What do you mean by externality?
Externality I10® & QR 9

STRICT IhT b &l 2

Define public finance.

Public Finance 351C® & @& 2
e o TR RN
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(e) What is market failure?

6031

(®

Market failure I5Ce & @RI 2

JOTRDT RABAT WD & &l ?

What do you mean by proportional taxation?
Proportional Taxation J¢1C9 T @R
IR PR ATl b Bl ?

GROUP-B / fR@in-4 / Tz

Answer any four questions from the following 6x4 =24
@-(FA 510 eTHF Ted wis
PT IRACT THEHD! IR I8 RL

To what extent externality is responsible for market failure? 6
Externality FOI@ Market failure (& &oifR® I ?
IOTRET SRTBITHT STEIAT Bid sa RFHaIR & ?

State and explain the characteristics of a public good. 6
Public good @3 (IfiErefer Stetpal 11
AT GRepT QITTEn Seeikd T8 RY 3T R T8I |

Briefly discuss the notion of Pareto efficiency. 6
Pareto efficiency 709 & @Ri9
URET S&ITeT ERUTT HfaTe < Bl |

Write a note on Benefit Approach of Taxation. 6
Benefit Approach of Taxation SNCsTIo T
PRET AT gRepior Al fevouft eree |

Explain the concept of ‘Fiscal Federalism’ in India. 6
Fiscal Federalism 3o70® & (AR SN 411
IR i SfeIaT DT gRUT SIRET T8 |

Distinguish between Monetary and Fiscal Policies. 6
Monetary € Fiscal Policy-3 W AL 372
Hifeep FfT faier fcremdTet fATaT Sers TR |
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GROUP-C / fRist-st / g

Answer any fwo questions from the following 12x2 =24
fFfafte @-@w @% THF Ted wie
Pr1 GEACT THEHDT IR TR

8. Critically explain ‘Ability to Pay Principle of Taxation’. 12
‘Ability to Pay Principle of Taxation’ SNCsTb« F1
PRED] YR T GCTD] R ST TeTeHD HUHT SR THEN |

9. Write the merits and demerits of direct and indirect tax. 12
0P 8 2{CATF e JTE YT HR[A-SPIREefe (=1
TCTET 3T URIET REReD! AT 37 BFiIE oIeTald |

10. Write short notes on: 6+6

(1) Internal versus external debt
(i1)) Burden of public debt.

R PR Bl @Tee

() Srerefe e [miE e

(i) I=SIR ACeR @R
frferRae ameft Bier fewunft ey

(i) SR S F1aT KT

(i) AT+ SEMRT TR |

11. Discuss the current issues in India’s tax system. 12
SRR TS T4 PO HCAGA 741
IR PR U] G JEaTew Bershel Ta |
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